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Exam tips


Advice on key points in the text to help you learn and recall content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summaries





•  Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.





[image: ]







[image: ]







About this book


This Student Guide 2, together with its companion Student Guide 1, has been written with one thing in mind: to provide you with the ideal resource for your revision of both AQA AS Business (7131) and the first year of AQA A-level Business (7132). In your study of the subject you will look at business in a variety of contexts, small and large, national and global, service and manufacturing.


The overall focus of the AS Business and first year of the A-level specifications is decision-making in the various functional areas, the influences on those decisions and the impact they may have on stakeholders. Central to these specifications are the following themes:





•  How developments in technology are affecting decisions in the functional areas.



•  The influence of ethical and environmental issues on decisions in the functional areas.



•  How decision-making in the various functional areas improves competitiveness.



•  The interrelationship between decision-making in the various functional areas.





The focus of Student Guide 2 is the following:





•  Decision-making to improve operational performance — productivity and efficiency, quality and inventory and supply chains.



•  Decision-making to improve financial performance — setting objectives, analysing performance, sources of finance and improving cash flow and profit.



•  Decision-making to improve human resource performance — setting objectives, analysing performance, improving organisational design, improving motivation and improving employer–employee relations.





Content Guidance


The Content Guidance section offers concise coverage combining an overview of key terms and concepts with identification of opportunities for you to illustrate higher level skills of analysis and evaluation.


Questions & Answers


The Questions & Answers section provides examples of the various types of questions with which you are likely to be faced, such as multiple choice, short answer, data response, a case study (based on the content of both Student Guides 1 and 2) and, for A-level only, essay questions. There is also a section on quantitative skills question practice that provides additional examples of the type of calculations you are likely to be faced with. The multiple-choice and short-answer questions focus on the broad content of this guide and the three data-response questions focus on specific aspects of content. Student Guide 2 also contains a case study question that provides a much broader approach to the complete AS specification and covers content from both Student Guides 1 and 2.


The questions in this guide are tailored so that you can apply your learning while the topic is still fresh in your mind, either during the course itself or when you have revised a topic in preparation for the exam. Together with the sample answers, this should provide you with a sound basis for sitting your exams in Business.





Content Guidance


This section outlines the following areas of the AS Business and first year of the A-level Business specifications:





•  Decision-making to improve operational performance



•  Decision-making to improve financial performance



•  Decision-making to improve human resource performance





Read through the topic area before attempting a question from the Questions & Answers section.


Decision-making to improve operational performance


Operations management is concerned with converting materials and labour into goods and services in the most efficient manner possible in order to maximise the profit of a business. In other words, it is about providing customers with products and services in the most efficient way possible.
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Knowledge check 1


What do you understand by the term ‘operations management’?
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Setting operational objectives


Operations management turns inputs into outputs with the aim of adding value, which is essential for a business to make a profit. The value of the output (product or service) should be greater than the value of the inputs needed to produce it. Added value is the difference between the price of a finished product or service and the cost of the inputs involved in making it. Adding value is therefore one of a number of aims of operations management.


Operations management is no different to other functional areas in that it has its own set of objectives, which will be SMART. The attainment of these objectives leads a business towards achieving its overall business long-term goals. Further examples of operational objectives are:





•  Costs — this is usually in terms of unit cost of production. Lower unit costs can lead to a competitive advantage as long as other objectives are not compromised such as quality and environmental objectives. Examples of objectives related to the area of cost and efficiency include productivity, unit cost of production and capacity utilisation.



•  Quality — this refers not only to the final product or service but also to the whole process of producing and selling that product or service. Objectives in this area might be in regard to wastage, defect rates, reliability and customer complaints.



•  Speed of response and flexibility — this relates to how quickly a business can respond to changes in demand, and effectiveness in this area has a significant impact on efficiency and unit costs. An example of an objective here might be in terms of order lead times.



•  Dependability — this is the reliability of the business, which is essential in maintaining customer loyalty.



•  Environmental objectives — this has become increasingly important over recent years where objectives relating to the amount of packaging used, energy efficiency, waste disposal and the use of sustainable resources have become an important area of concern.
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Exam tip


It is not only operations management that adds value, marketing can also.
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The value of setting operational objectives


Operational objectives are important for a business for a number of reasons:





•  They promote efficiency and can make savings in terms of time, money and less waste.



•  Unit costs may be reduced as a result of the efficiencies gained.



•  Profitability is therefore likely to improve.



•  Motivation may be gained for those responsible for achieving the objectives set.



•  Evaluation of the objectives set may be used as a measure of achievement.







[image: ]


Knowledge check 2


Outline briefly how environmental concerns have an impact on operational objectives.
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Knowledge check 3


Identify four reasons why it is important for a business to set operational objectives.
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External and internal influences on operational objectives and decisions


Operations managers do not operate in isolation. Any decisions made will have implications for the other functional areas of the business and may be affected by the wider external environment.


External


External influences usually involve the following factors.


Political or legal influences


Businesses always have to be aware of the legal environment and potential changes in legislation. With greater awareness of health and safety and environmental issues, changes to legislation in these areas could have a significant impact on operational objectives.


Economic influences


Changes in the economic environment can impact on operational objectives as demand is likely to fluctuate with changes in the economic cycle. Added to this is the effect of greater globalisation, which enables businesses to source both supplies and produce from almost anywhere in the world.


Technological influences


This has had a tremendous effect on both the way consumers purchase goods and services and in terms of production. The advent of the internet has led to consumers who are more aware and demanding in terms of price, quality and customer service. There are apps for just about anything and the growth of social media influences operations objectives. Not only has technology influenced consumer awareness, it has also had a profound impact on the production of goods and services. Production can be undertaken with the use of robots, the process of innovation is quicker, books and newspapers can be read online and music and films simply streamed or downloaded.



Competitive influences



Greater awareness means a business has to work hard to maintain customer loyalty. This places pressure on operations to maintain levels of quality, reliability and customer service.


Internal


Internal influences are usually studied in terms of other functional areas:





•  Finance — as any operational decision is likely to involve considerable investment, the availability of finance is a key influence.



•  Marketing — it may be that the marketing activities of a business determine the quantities produced and the type of good manufactured.



•  Human resources — it is likely that the skills of the workforce determine the quality and numbers produced. This emphasises the importance of the workforce.





As well as the above, the overall corporate objectives are also likely to influence operational objectives.



Analysing operational performance


Interpretation of operations data


As with other objectives, operational objectives should be measurable, enabling managers to analyse and interpret the results. Four main areas are outlined in the AQA specification:





•  labour productivity




•  unit cost (average cost)



•  capacity



•  capacity utilisation





We will look at each of these areas in turn.


Calculation of operations data


Labour productivity


This relates to the efficiency of individual workers and is of interest to human resources as well as operational managers. It is a measure of the output per worker in a given time period and calculated as follows:
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Therefore, if an output of 3,000 units is achieved in a given time period by 25 workers, the labour productivity is 120.


Unit cost (average cost)


This is the cost of producing one unit of output and is sometimes referred to as average cost of production. It is calculated as follows:
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Therefore, if the total cost of producing 3,000 units of output is £90,000, the unit cost is £30.
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Exam tip


It is relatively easy to calculate unit cost for a business producing a single product, but more difficult for a multi-product firm.
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Capacity


This refers to the maximum output possible for a business in a given time period. Using the example above, although production is 3,000 units it may be possible for a business to produce 4,000 units in the same time period. Therefore, 4,000 units is its maximum capacity. However, there is no point in producing at this level unless demand is there as this would incur unnecessary costs.


Capacity utilisation


Capacity refers to the total possible production in a given time period, but capacity utilisation measures what percentage of that capacity is actually used. It is calculated as follows:
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In the example above, if maximum capacity is 4,000 units and actual output is 3,000 units, capacity utilisation is 75%.
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Knowledge check 4


Distinguish between capacity and capacity utilisation.
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The use of data in operational decision-making and planning


Data can be useful in making operational decisions and, with the greater use of technology, they can be easier and quicker to identify and collect. The analysis of operational data enables problems to be spotted at an early stage. This might be in terms of productivity, unit costs or capacity utilisation. If demand is shown to be increasing, it may be necessary to find some way of increasing capacity to avoid problems of lack of capacity. If unit costs are increasing, an analysis of why may enable corrective action to be taken. If an early indication of falling productivity is shown, it may be possible to take corrective action before it becomes a real problem.


Operational data are likely to be a starting point for any operational decisions that are made and therefore have an important role to play in decision-making.
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Opportunities for analysis





•  The importance of operational objectives.



•  Analysis of either internal or external factors that may be considered when setting operational objectives.
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Opportunities for evaluation





•  Evaluation of whether internal or external factors might be more important in a given context.



•  The extent to which one operational objective might be the most important in a given context.



•  Evaluation of the usefulness of operations data.
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Making operational decisions to improve performance: increasing efficiency and productivity


Operational efficiency is defined as the ratio between the inputs to run a business and the outputs gained. The aim is to achieve the greatest amount of outputs from the lowest amount of inputs without compromising other aspects such as quality or customer service.


The importance of capacity


It is important for a business to have the right level of capacity. If it has too much spare or excess capacity it is not using, this represents wasted resources as it will be paying for space it is not using which will have an impact on unit cost. If, however, it is operating at full capacity, the business will be unable to take on new orders and could miss out on valuable sales and may even damage its reputation.


How to utilise capacity efficiently


Capacity utilisation in the UK averaged 72.11% from 1958 to 2014 and was at its highest (85.2%) in 1988. Ideally, a business requires a level of capacity utilisation as close to 100% as possible but in practice this is unlikely for most firms. However, having some spare capacity is advisable as this gives the business the flexibility to be able to take on new orders. For some businesses, demand may be seasonal, resulting in working flat-out at certain times of year while having spare capacity at other times. An individual business, therefore, will be aware of its optimal and most efficient level of capacity utilisation and aims to operate at this level.
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Exam tip


When looking at capacity utilisation, it is important to look at the circumstances of the individual business. Has its capacity utilisation been rising or falling? How has it performed against an industry average? Any judgement made must be in context.
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The importance of efficiency and labour productivity


The efficiency of a business might be improved by increasing labour productivity, i.e. the output per worker. This might be achieved by getting a greater output from the existing workforce in the same time period, but this requires a market and demand for the extra output. On the other hand, it might be achieved by producing the same level of output from a smaller workforce. In both cases, the cost of labour per unit is reduced (assuming labour costs do not change). Labour productivity is a key figure particularly in businesses that rely on a high proportion of labour in production. Improvements in productivity have a significant impact on efficiency.
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Knowledge check 5


What do you understand by the term ‘excess capacity’?
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How to increase efficiency and labour productivity


Labour productivity can be improved in a number of ways:





•  Reduce the labour force. If the labour force can be reduced while maintaining the same level of production, productivity will improve. This could be achieved by investing in technology or sub-contracting some peripheral activities such as cleaning.



•  Invest in technology. Many operations in manufacturing are undertaken by machines and robots. In the service industry, examples such as online banking reduce the need for labour, thereby improving the productivity of the remaining staff.



•  Improve training and motivation. Increasing the skill set of workers may make them more efficient and, if this is linked to motivation and reward, productivity may be improved.



•  Job redesign. This can also have an impact on productivity as changing the way things are done can make the whole process more efficient.
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Knowledge check 6


List four ways in which labour productivity may be improved.
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Difficulties of increasing efficiency and labour productivity


Although improving labour productivity might seem a straightforward aim in practice, it can lead to significant difficulties:





•  Quality. Increasing the output per worker may compromise other factors such as the quality of a product or service.



•  Resistance of employees. Productivity increases may be resisted by employees as it may result in redundancies. This is not just as a result of new technology being introduced — it could also happen if productivity is improved with no corresponding increase in demand.



•  Costs. It is also possible that workers may demand pay increases in recognition of their improved performance or to reward new skills developed through training.
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Exam tip


Whether or not productivity improvements can be made effectively depends on the circumstances of the individual firm and the costs involved.
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The benefits and difficulties of lean production


Lean production is about getting more from less. It involves eliminating waste and involves, where possible, using less labour, materials, space and time. It is about making the organisation more efficient and, in turn, reducing costs. There are perhaps four aspects of lean production:





•  Just-in-time (JIT) production, where materials are received just as they are needed for production, eliminating the need for large levels of stock.



•  Time-based management, which aims to reduce the time wasted in operations, such as in faster product development and shorter lead times.



•  Total quality management (TQM), which is a quality assurance ideal where all workers have responsibility for getting it right first time. (See p. 14 for more information on quality assurance.)



•  Continuous improvement, which is a culture where all workers are involved in making improvements in production and quality.





Lean production can be applied to both manufacturing and the service sector and it brings with it a number of efficiency benefits. These include improved productivity, reduced waste and improved customer service.


The AQA specification makes specific reference to just-in-time operations, where materials are received as they are required for production or needed for sale. Such a system places a greater responsibility on employees, not just for ordering and ensuring sufficient materials arrive but also in terms of flexibility in adjusting to variable levels of demand. There are a number of benefits of using just-in-time:





•  Reduced costs. Less space is needed for storage, less workers are required for looking after stock and there is less wastage due to damaged stock. Less money is tied up in holding stock, so the business’s cash flow position is likely to be improved.



•  Greater motivation. There is greater worker participation in decision-making and jobs are likely to be more interesting and carry more responsibility as a result.





There are a number of drawbacks in adopting a lean production approach:





•  Loss of production. If there is any interruption in the supply chain, materials may not arrive on time. This might be because of weather disruption or problems in the supplier’s production process. This was illustrated when a tsunami struck Japan in March 2011, destroying many supplier firms to the car industry. As a result, Toyota had to halt production for a number of months.



•  Reliability and flexibility. Tremendous trust is put in suppliers by such a system. This is not just based on their ability to supply reliably and be flexible, but also for being able to produce consistently high quality.



•  Bulk purchase savings. These may not be available as each order will be for a small quantity.
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Exam tip


It may be that a business will not lose out from not buying in bulk. This is because through the course of a year they are likely to still order the same amount and, theoretically, the supplier should also benefit from a lower requirement for storage space.


[image: ]





How to choose the optimal mix of resources


The inputs needed in business are often referred to as the factors of production. These are the resources used in the production of goods and services. They include:





•  land — the physical land and the natural resources of the planet



•  labour — the staff that work in a business



•  capital — the machines and equipment used in a business



•  enterprise — the skill of combining the other factors of production
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Knowledge check 7


Outline two benefits and two drawbacks of a just-in-time approach to production.
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When considering the optimum use of resources, it is usually in relation to the mix of capital and labour. Some businesses may put a great emphasis on capital (capital intensive), whereas others place more emphasis on labour (labour intensive).


The car industry provides an example of a capital-intensive industry where large amounts of money have been invested in technology and robots for the mass production of cars. This brings with it the benefits of higher productivity and efficiency in terms of reducing human error and wastage. It does, however, come with a high initial cost and, unlike labour, lacks flexibility and creativity.


An example of a labour-intensive organisation is a restaurant or hotel that is heavily reliant on customer service. Its staff can be used flexibly according to demand: they can tailor-make products, add personal touches and give feedback on production. Along with labour, however, comes the potential for labour-relation problems: their effort can be inconsistent, long term they can be more expensive and there may be problems acquiring labour with the correct skills.
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Knowledge check 8


Distinguish between capital-intensive and labour-intensive production.
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The optimal mix of resources depends on a number of factors:





•  The type of product being made. Mass-produced products are likely to be more capital intensive, whereas those aimed at a niche market may be more labour intensive, for example Nissan cars as opposed to Aston Martin.



•  The size of the business and finance available. Smaller businesses may not be able to justify investment into large items of capital equipment.



•  The nature of the industry. The service industry such as the hotel trade is more likely to be labour intensive as customer service is paramount. On the other hand, manufacturing is more likely to be capital intensive.






How to use technology to improve operational efficiency


Technological developments have had a significant impact on all aspects of business, research and development, production and sales. This influence has been apparent in every sector, making operations more efficient. We have computer-aided design (CAD) and computer-aided manufacture (CAM), which make innovation quicker and manufacture more accurate, reducing wastage and improving quality.


Computers enable quicker communication and large amounts of data to be stored and processed. Goods and services can be purchased on the internet at the touch of a button. Information can be spread via social media in an instant. Technology also continues to develop, enabling further efficiencies to be achieved. Providing a business has the finance to invest and the skills to use the technology, the benefits in terms of efficiency are enormous:





•  Cost reduction — this can be in manufacturing due to less waste, speedier production and the use of less labour. It can also be in the service sector in terms of online sales, reducing the need for high street shops and sales assistants.



•  Flexibility — this might be in production, for example car manufacturers can build cars specifically to meet customer requirements in terms of colour and extras.



•  Innovation — this may be quicker, resulting in new products becoming available sooner.
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